SIRAUS AfSID Jrofielol vd ufdrgior ufyug, d
aiffep socsfifsuce e - 2024

ISl U%I BT (MCQ)
AIRI- 1:30 TC :
Dal- 12 eI - srefon=st , quIid- 30
) Time — 1:30 Hours o
Class-12 Sub. - Economics Full Marks- 30

AT [T -
General Instructions: -
> el 30 U9l 8l
Total number of questions is 30.
> A3t ussll o 302 ifeIart 3
All questions are mandatory.
» UcAD U6l D fe18 U 3l foralifad 3
One mark is assigned to each question.
> UcAD Usl AR [ddey fGu s1u 8] 28l fdaoeu ol arlol bifSTe
There are four options for each of the questions. Choose the correct option.
> 3IcId 3R & fe1e IS 3 ofdl Pl SIresl]

There is no negative marking for wrong answer.

1. 3cUIGeT HHATIAT T Jeh T alel BT 8-
The slope of the curve of production possibility falls-
(a) 9T & g0 (Left to Right)
(b) T & 1T (Right to left)
(c) i & I (Bottom to Top)
(d) 3T & =T (Top to bottom)
2. " 39ARANGT FF AT HAT ST TR -
Marginal utility can be determined as
(a) ATU/AQ (b) AMU/ AQ
(c) aAQ/ AMU (d) AQ/ ATU
3. dr feu T@r 3 # Awr fr o g7

What is the elasticity of demand in the line diagram given below?
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D
e
(a) 38 oaeR (More elastic) (b) 31§ @ER (Unit Elastic)
(c) A AIER (Less elastic) (d) quT #=IeR (Full elastic)

4. 3mard F fFeiad J aRade e T ufshar & Fa1 FgT AT 82
The process of converting input into output is called:
(a) 3UHNIT (consumption) (b) 3c9tesT (production)
(c) faaer (investment) (d). f[afr& T (exchange)
5. frdT aRadt amers(L) 1 3Ed 3cutes G e T gF FAT BT 872
What is the formula for determining the average output of a variable factor (L)?
(a) QL (b) L/Q
(c) Q+L (d) a daT b A=t
6. fd & fga = fArafaf@a & Hid-a1 FeleT gaiid adr 872
Which of the following functions represents the law of supply?
(a) S=f(p) (b) S=f(1/p)
(c) S=f(Q) (d) 3T & I sT&1(None of these)
7. famfafea & s Faa AuRor gfkar & g7 dcd &1 TR gedd Har?
Who among the following proposed the idea of time element in the pricing process?
(a) R&13f(Ricardo)
(b) are&(walrus)
(c) #FTTer(marshall)
(d) St.3h.#gdT(J.K.Mehta)
8. TR Hed fade & Agcaqor ad T 87
What is the important condition of monopolistic price differentiation?
(a) ST &1 JYah gIT (Separation of the market)
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(b) T UTFT & Fe=iar (Variation in purchasing power)
(c) ART &1 offg H fAe=Tdr (Variation in elasticity of demand)
(d) 39 @l (All of the above)
9. gfaeqe IR ISR H ANT I &IdT ¢-
In a non-competitive market, the demand curve is-
(a) AT 3MeTeT g% (Marginal Revenue Curve)
(b) & 3MITA T ( Total Revenue Curve)
(c) 3iraa 39T g% (Average Revenue Curve)
(d) 3uded & & &g =& (None of the above)
10. ‘G SToitel TART 3T TCAIIHC, SEEC US Hell' ATHG J&Ieh & ofTeh hiel 57

Who is the author of the book titled "The General Theory of Employment, Interest

and Money'?
(a) 9 (Pigoo) (b) ATEYF (1 time)
(c) oT. TH. FF (J. M. Keynes) (d) R&13f (Ricardo)
1. R g & U QU gU ¥ & 3cUlee & Al & gaRT 3eaifed 3ifaa a&g vd Jani
& TR Hed I FAT FHgl Sl §7?

What is the market value of final goods and ‘services produced by the means of

production in a given year in a country called?

(a) Hehel BYe] 3cU1G (GDP) (b) e®r T 3cuie (Net Domestic Product)

(c) TSI AT (national income) (d) =afederd 31 (Personal Income)
12.Re1a d& 3% Sf3ar T T ah—q'g’é?
When was Reserve Bank of India established?
(a) 1947 (b) 1935
(c) 1937 (d) 1945
13.7% et rdfcaaear & an{fies AT & @ § ¥ Fl7 § dea €7
Which of the following are the elements of collective demand in an open economy?
(a) 39#IeT(consumption) (b) faer(investment)
(c) TXRT =7 Tq ey AT (Government Expenditure & Net Exports)
(d) 3TFa Tt (All of the above)
14.[AFITT@T A & areafdes AL &l 8§72
Which of the following is a real investment?

(a) X @lEAT(Buying Shares)
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(b) YRT=AT Herdy Tlie=(Buying an Old Factory)

(c) $a=t &1 fFATOT( Construction of buildings)

(d) s H STAT @WiaT Wiel1(Opening a deposit account with a bank)
15. 9T FfAeeT & f6d ffeae o1 &Y dolc F §7?

Which article of the Indian Constitution is related to the Budget?

(a) Hﬂﬁ}?{ - 108 (Article - 108) (b) 3@?&?{ -356 (Article - 356)

(c) 3ifede - 248 (Article - 248) (d) 3r7ese - 112 (Article - 112)
16. Erg@rdl # TH YA G 3cdes §¢ H &I, Ifg

In the long run a firm in perfect competition will stop the production, if

(a) P>MC (b) P>AC

(c) P=AC (d) P<AC

17.9cT8T Y & 3iddd e 7 ¥ f»a anfaa foar smar €2

Which of the following is included under Direct Tax?

(a) 3UBX &Y (gift tax) (b) 3T &Y (Income Tax)

(c) TshT X (sales tax) (d) a Td b gt (Both a & b)
18. 3RS FgT 1Y hT TATAT el §S7?

When was the International Monetary Fund established?

(a)1944 (b) 1951

(c) 1975 (d) 1861

19.7 & & T aRTEATT & o1 &1 gfcd 7 v g Forchr 872
In which of the following situations can there be a decrease in the supply of money?
(a) s &I # HAT (Bank Rate Reduction)
(b) #9Te IRTEIT 3HJUTd H gefer (Increase in Cash Reserve Ratio)
(c) R3S & garT yiAfadt &1 %I (Purchase of securities by RBI)
(d) g1 & TT (Al of these)
20.9Rd # o a¥ $r Fraafar gidr g-
The period of the financial year in India is-
(a) 1 STa1adr & 31 Tg@ea(January 1 to December 31)
(b) 1 Sferms & 30 SEeA(July 1 to June 30)
(c) 1 3 & 31 A=I(April 1 to March 31)
(d) 1 3 & 31 FJemS(August 1 to July 31)
21. 9N 3rdegaedr & G9y H Arfaf@d # ¥ i 97 FT 7 872

Which of the following statement about capitalist economy?
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(a) 3c9TeT & ETET WX TS FTarfdca (Private ownership on factors of production)
(b) 3cUTGeT ST 38arT ST HediuT (The objectives of production is human welfare)
(C) §XhX ol Cj'\U‘r g&d8IT (Total interference of government)
(d) #fAST &1 JaT 1 HI-fdshT THT =161 (There is no possibility of trade of services
of labourers)
22. 77T foR—IT ST Teh 827 & 2 @ Ifed VoK H FoldoT § a7 10 g9} TFd I il
&I STHh § olfchel 3e6 DA o6l [Hel IT TET & Al S H SUSTIRT hiT &I 4T gef?

Let's assume that in a country, there are 2 lakh people are employed and 10

thousand people are wiling to work but they don’t get any, then what wil be the
unemployment rate in the country?
(a) 2% (b) 10%
(c) 5% (d) 20%
23. 701 & Ve R ITchIcHS HrAT H1 AT fhaer fohar?

Who divided the static and dynamic functions of money?

(a) Y7 2T (Ragner Frisch) (b) 9T TRSHaT (Paul Aging)
(c) #TTST (marshall) (d) g7 & &t (All of these)

24.3710 & FARR YaTg ASel A fqshar & shdl S 3R a¥g3i vd Jai3i & garg 1 37 Fal
ST 87

In a circular flow model of income, the flow of goods and services from the seller

to the buyer is called?

(a) Hifged garE (Monetary Flows)

(b) arEdTdesh Udrg (Actual Flow)

(c) arf¥s warg (Annual Flow)

(d) ¥ (stock)
25.9¢T o g foha g-

Currency has eliminated?

(a) GrATTSI gISAT @1 (Social evils)

(b) 3T gRISAT &1 (Economic Evils)

(c) TIPR FHT AN HT (The problems of the government.)

(d) a&q-fafeiada gomel & wfsarsar 1 (The difficulties of the barter system)
26.3M & HJlT TR -

At the equilibrium level of income-

(a) sad 3R fAaer &R g1d & (Saving and investing are equal)
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(b) sad e & &# gidr & (Savings are less than investments)

(c) sua foder & 3ifeh glId € (Savings outweigh investments)

(d) s &7 fA9T ¥ +1S T 87 & (Savings have nothing to do with investment)
27. Arfof@a 7 ¥ REAT &1 v GIATT ATCIH i 1 22

Which of the following is the universally accepted medium of exchange?

(a) Ihge (Cheque Book) (b) s&9T (Bond-Paper)

(c) 3ATE 3%e¢ (Demand Draft) (d) HaT (Money)
28.quTHTAANEN TR H ®AT T FE&AT BT 8-

The number of firms in perfectly competitive Market is-

(a) 2 (b) 1

(c) 379 (Some) (d) 3rcaf¥= (large number)

29.fAFT H ¥ FHAT AT &7 Th G¢Hh gl g-

Which of the following is not a component of aggregate demand?

(a) 3THIT cTT (consumption expenditure)

(b) fder eI (Investment Expenditure)

(c) aer faaTa (Net Export)

(d) faeir aREufaat uv saa (Expenditure on financial assets)
30.facelt fafaear e =7am 87

What is foreign exchange rate?

(a) a&] HT a& H HAT (Price of goods in term of goods)

(b) @& T HaT & AT (Price of goods in terms of money)

(c) Har 1 a&g & FHAd (Price of money in terms of goods)

(d) e el 1 facel Hear # F1AT (Price of domestic currency in terms of foreign

currency)
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Answer of MCQ

UReT 3T 9T 3d¥
1 a 16 d
2 a 17 d
3 b 18 d
4 b 19 a
5 a 20 Cc
6 a 21 c
7 c 22 a
8 d 23 b
9 c 24 b
10 b 25 d
11 a 26 a
12 b 27 d
13 d 28 d
14 c 29 d
15 d 30 d

SIRIAUS SHEID 3rofielol Gd UfdIsur uldyg, Jcit [arftics udtetn) [RBT : 2024- 2025] Page 7 of 10




SIRAIUS IIISID 3[olielol Bd Uforsivr ufdug, At

dIfi soceifsue udiem — 2024
Hiscl Ul Ul (faueiforns)
~ . AH=I- 1:30 @C .
DEII- 12 AU - 31291121 . QUIIdb- 50
_ Time — 1:30 Hours o
Class-12 Sub. - Economics Full Marks- 50
83131 (o4 B 15 Fe15) B8

> uIlemmell *Ten3isia 31uol 9Iecl 3 32 ciforv)

Candidates are required to answer in their own words as far as possible.

> el Ul bl ca1 22 8l

There are 22 questions in total.

> Ul AT 1 A 8 A 3T c’-3TRRI U%I 8l 3otdl A fdbodl ©: Uil b IR
SIEDAH 50 91651 i SIHSTC] YD U DI Hlol 2 3ib forerifed 2
Question no. 1 to 8 are very short answer type questions. Out of these, answer any six

questions in maximum 50 words each. Each question carries 2 marks.

> U1 AT 9 A 16 AD -3 U6l 8l fobodl ©: Useil I 312 Siferaad 150
916G I SISTR] U U I HIel 3 3P forelifde 3
Question no. 9 to 16 are short answer type questions. Out of these, answer any six
questions in maximum 150 words each. Each question carries 3 marks.

> UST ARAT 17 A 22 dAD SIE-IRERI U 3l Soldl A fdbodl R Uil dI 372
I eIdT 250 91631 3 SHSIY] Ul UsT oI ATol 5 3 foreltfye 3l

» Question no. 17 to 22 are long answer type questions. Out of these, answer any four

questions in maximum 250 words each. Each question carries 5 marks.

Ts-(A) HTA-eTEe T wee (2 37hr)
Part-(A) Very short type Question (2 marks)
fAfaf@a & ¥ gl o 7ot & 3w dfSv)

Answer any six from the following questions.

1 afedr a7 e Hife #T a&g 1 IRANT A
Define a substandard or inferior article.
2 quf 9faAEar & AR T X-378T & AR 4T gl 87

Why is the AR curve parallel to the x-axis in perfect competition?
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3 e fafde=r fafeat 1 g 9130 [9aTH eufisR Ba sJagR &7 Fehdl |
List three different ways in which oligopoly firms can behave.
4 g AR FATE JMART H FdX TIT FY|
Differentiate between micro and macro-economics.
5 AT derd AR 3rad derd & aReivg Hifae|
Define the terms marginal cost and Average cost.
6 dEmieh deldl Je]dre &1 872
What is the Statutory Liquidity Ratio?
7 3YHNET Bolel fohel TRT & T FEY HI STaFrd T 872
The consumption function expresses the relationship between which variables?
8 MR AV 3R AT WIAT AV H 3R TA7|

What is the difference between Trade Balance and Current Account Balance?

Ts-(B) oTga{IT 9 (3 3ieh1Y)
Part-(B) Short answer type questions (3 marks)
i@ & @ gl & 7ot & 3wx faf@v)

Answer any six from the following questions.

9 e T IR Y| fore TRATT 7 ST T HfoleT raeAT # gl STl §7?
Define equilibrium. In which case is the market said to be in equilibrium state?
10 gedr AT 39AFEar & @ga $r egrear sl
Explain the law of diminishing marginal utility.
11 916IR Aol & 3T FIT FASI §? YW@ & Tose ffav|
What do mean by market equilibrium? lllustrate with diagram.
12 Hehel B[ 3cUTG 1 IRATVT HIfSAT| Ig Hehel TSET 3cUIG § fhE JohR Fefed 872
Define Gross Domestic Product. How it is related to Gross National Product?
13 Helel AT T §? IWMIT T30 |
What is the equilibrium price? Draw a diagram.
14 S9TR &7 IRHATT AfAT| 37 IR dedl & ford foereh 3muR ) faffiesr sromRt & aRenfia
foram arar 21
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Define the market. Write down the four elements on the basis of which different
markets are defined.

15 qaitardr 3rdfegaear $r Agcaqur fAAvare = g7
What are the important features of a capitalist economy?

16 R & ¢anrT aredfas yarg aur Alfges gag & X I’
Show the difference between actual inflow and monetary flow with the help of

diagram.
Ts-(C) 3y ua (5 37h)
Part-(C) Long answer type questions. (5 Marks)

fArfaf@a & 9 Fgl aR Teat & 3 QfSw)
Answer any four from the following questions.
17 ATATT g T 3T FIT ASIA g2 AT doh I [AATATIA I TISC A

What do you understand by preference curve? Explain the characteristics of the

preference curve.

18 Ush el T el U AT, Toel TRACAT ST TYT el ARIT F47 g, I g TR Gl
&2

What are total fixed cost, total variable cost and total cost of a firm, how are they

related?

19 SISTR &HAT TF AT hIAd H 3R HIfAT|
Differentiate between the market price and the normal price.

20 GDP & TUSET 3T &Y I0TAT 3T hd Hidr? Iredm Hifarv|
How will you calculate national income from GDP? Explain.

21 919 T A AR 39HET 37 (A) 50 HUs g1 3R AT F9d g9 (MPC) 0.2
YT 3T HT &R E 4000 g A7 YIRS AT HAFT ATd HL? Ig dT gq1¢
HITaEAT Hfoled H § AT 12

22 HeT FAT 82 Hal & H1l T ol H?

What is Mudra? Describe the functions of money?
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